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Zeeshan Ahmad EET-3132 Remote Sensing, Spring 2016

Problem 6, Chapter 2, RS from Air and Space,

Calculate the radiance L(?) for T = 1000 K from ? = 0720 ?m, and plot.
Note that this is a calculation exercise, and you should be sure you can
obtain the correct answer with a hand calculator at a minimum of

2 wavelengths, say 3 and 10 7?m.
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clear all
close all

T=1000:1000:6000;% Kelvin

lambda=[0.1:0.1:20].%10~(-6) ;% wavelength in micrometers
c=3%10"8;% speed of light in m/s

h=6.626%10"(-34) ;%J*s

k=1.38%10"(-23);%J/K

for i=1:1length(T)
for j=1:1length(lambda)
Eront_term(j)=(2xhxc”2)/((lambda(j))~5);
Bottom_term(j,i)=(exp((h*c)/(lambda(j)*xk*T(i))))-1;
L(j,i)=Front_term(j)*1/Bottom_term(j,i);
end
end

plot(lambda.*1076,L)

legend('T=1000"', 'T=2000"', 'T=3000"', 'T=4000"', 'T=5000"', 'T=6000")
xlabel( 'Wavelength(um)")

ylabel('Radiance"')

title('Problem 6')
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